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Time Crunch! Worksheet
Complete the following workout problems.
1. Alex is late for work again. He needs to travel 1 mile in less than 1 hour. What is the minimum speed Alex should travel in meters per second so that he can make it to work? Remember that 1 mile = 5,280 feet = 63,360 inches = 160,934 centimeters and 1 hour = 60 minutes = 3600 seconds.
=________________
2. The heart beats on average about 75 times every minute. How fast does an average heart beat in 5 years?

=________________
3. An airplane cruises steadily at 500 miles per hour. What is this speed in meters per hour?
=________________
4. A runner jogs up a hill for a good hour. For 15 minutes, the runner jogs 7 miles per hour, and for another 15 minutes, the runner walks 2 miles per hour. After walking, the runner then begins to jog again at a rate of 5 miles per hour for the rest of the time. How far can the runner jog in one hour?
=________________
5. Texas A&M cargo is to be shipped to Lubbock daily, and the fastest truck travels at a speed of 70 miles per hour. Lubbock is 450 miles away from College Station. If one truck leaves every hour and the first truck leaves at exactly midnight, how many trucks could make it to Lubbock within 24 hours? (Assume no truck is allowed to travel past midnight the next day).
6. At 6:00 AM a car travels west at a rate of 83 miles per hour. Three hours later, the car turns south and begins driving at a rate of 90 miles per hour for another 2 hours. What is the average speed of the car and the total displacement from start to finish?
=________________
7. If speed is directly proportional to the size of a person’s leg, and Joe, whose legs are one meter long, runs 3 miles in 18 minutes, how long after Joe will Clara, whose legs are ½ a meter long, finish 7 miles if they both start at the same time?
=________________
8. A train leaves Winston Salem Station at 5:00 Pm and travels 5 hours to Bumble Bee station a good 500 miles away. At 6:00 Pm, a second train leaves Bumble Bee station and travels the same distance in 6 hours. If the tracks are side by side, find the time that the first train arrives at Bumble Bee Station, the rate at which the second train is traveling, and at what time both trains pass each other. (Remember displacement, d, is equal to d=X(final position) – X(Initial position)).
=________________
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